



**ANTWERP WORLD CUP 2025 (BE)**  
**06-12 October 2025**

Pre-Qual Groups									
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
<b>A</b>	LE Thanh Tien	34	31	1.096	0	6	4		
	ESCRIBANO Joseba	35	31	1.129	2	6	4		
	SOUAGNE Pierre	24	19	1.263	0	5	4		
	LE Thanh Tien	35	19	1.842	2	10	7		
	SOUAGNE Pierre	24	24	1.000	0	4	3		
	ESCRIBANO Joseba	35	24	1.458	2	7	5		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
ESCRIBANO Joseba		ES	70	55	1.272	4	7	6	1
LE Thanh Tien		VN	69	50	1.380	2	10	7	2
SOUAGNE Pierre		FR	48	43	1.116	0	5	4	3
<b>B</b>	MAURER Claus	29	44	0.659	0	5	3		
	PHAM Quoc Thuan	35	44	0.795	2	5	4		
	DE BRUIJN Jean Paul	35	16	2.187	2	11	9		
	MAURER Claus	17	16	1.062	0	4	3		
	DE BRUIJN Jean Paul	35	24	1.458	1	5	4		
	PHAM Quoc Thuan	35	24	1.458	1	6	6		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
DE BRUIJN Jean Paul		NL	70	40	1.750	3	11	9	1
PHAM Quoc Thuan		VN	70	68	1.029	3	6	6	2
MAURER Claus		AT	46	60	0.766	0	5	4	3
<b>C</b>	SELEVENTAS Dimitrios	35	36	0.972	2	7	6		
	MOULOS Vangelis	26	36	0.722	0	5	4		
	PINARD Patrice	27	36	0.750	0	4	4		
	MOULOS Vangelis	35	36	0.972	2	6	3		
	PINARD Patrice	10	14	0.714	0	4	2		
	SELEVENTAS Dimitrios	35	14	2.500	2	11	5		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
SELEVENTAS Dimitrios		GR	70	50	1.400	4	11	7	1
MOULOS Vangelis		GR	61	72	0.847	2	6	5	2
PINARD Patrice		FR	37	50	0.740	0	4	4	3
<b>D</b>	LOWE Tom	35	23	1.521	2	9	6		
	THON Viet Hoang Minh	33	23	1.434	0	8	4		
	SOARES Jose Miguel	26	20	1.300	0	8	4		
	THON Viet Hoang Minh	35	20	1.750	2	6	6		
	SOARES Jose Miguel	33	39	0.846	0	6	3		
	LOWE Tom	35	39	0.897	2	5	4		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
LOWE Tom		DE	70	62	1.129	4	9	6	1
THON Viet Hoang Minh		VN	68	43	1.581	2	8	6	2
SOARES Jose Miguel		PT	59	59	1.000	0	8	6	3





Union Mondiale de Billard

## ANTWERP WORLD CUP 2025 (BE)

### 06-12 October 2025

### Pre-Qual Groups

Pre-Qual Groups									
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
<b>E</b>	PENNOR David	35	30	1.166	2	7	5		
	BOUERDICK Tobias	24	30	0.800	0	4	4		
	ALP Ahmet	35	26	1.346	2	4	4		
	BOUERDICK Tobias	32	26	1.230	0	6	5		
	ALP Ahmet	27	29	0.931	0	5	4		
	PENNOR David	35	29	1.206	2	4	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
PENNOR David		SE	70	59	1.186	4	7	5	1
ALP Ahmet		TR	62	55	1.127	2	5	4	2
BOUERDICK Tobias		DE	56	56	1.000	0	6	5	3
<b>F</b>	NADY Riad	19	24	0.791	0	3	3		
	LINDEMANN Ronny	35	24	1.458	2	6	5		
	KAHOFER Arnim	35	26	1.346	2	7	4		
	NADY Riad	30	26	1.153	0	7	5		
	KAHOFER Arnim	35	24	1.458	2	6	5		
	LINDEMANN Ronny	34	24	1.416	0	9	6		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
KAHOFER Arnim		AT	70	50	1.400	4	7	6	1
LINDEMANN Ronny		DE	69	48	1.437	2	9	6	2
NADY Riad		EG	49	50	0.980	0	7	5	3
<b>G</b>	NOVAK Radek	16	28	0.571	0	4	2		
	GONZALEZ Pedro	35	28	1.250	2	7	5		
	UYMAZ Birol	35	25	1.400	2	9	5		
	NOVAK Radek	29	25	1.160	0	6	6		
	UYMAZ Birol	24	13	1.846	0	6	4		
	GONZALEZ Pedro	35	13	2.692	2	11	5		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
GONZALEZ Pedro		CO	70	41	1.707	4	11	7	1
UYMAZ Birol		TR	59	38	1.552	2	9	6	2
NOVAK Radek		CZ	45	53	0.849	0	6	6	3
<b>H</b>	DE KRUIJF Jordy	33	29	1.137	0	5	4		
	CATANO Huberney	35	29	1.206	2	5	3		
	DEVOGELAERE Mikael	35	25	1.400	2	7	6		
	DE KRUIJF Jordy	20	25	0.800	0	5	3		
	DEVOGELAERE Mikael	27	21	1.285	0	7	5		
	CATANO Huberney	35	21	1.666	2	6	5		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
CATANO Huberney		CO	70	50	1.400	4	6	5	1
DEVOGELAERE Mikael		FR	62	46	1.347	2	7	7	2
DE KRUIJF Jordy		NL	53	54	0.981	0	5	5	3



Union Mondiale de Billard

## ANTWERP WORLD CUP 2025 (BE)

### 06-12 October 2025

### Pre-Qual Groups

Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
I	BASEGMEZ Emrullah	25	25	1.000	0	5	3		
	SAINZ PARDO Daniel	35	25	1.400	2	4	4		
	VASSEUR Kevin	14	17	0.823	0	4	3		
	BASEGMEZ Emrullah	35	17	2.058	2	6	6		
	VASSEUR Kevin	24	27	0.888	0	4	3		
	SAINZ PARDO Daniel	35	27	1.296	2	7	6		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
SAINZ PARDO Daniel		ES	70	52	1.346	4	7	6	1
BASEGMEZ Emrullah		TR	60	42	1.428	2	6	6	2
VASSEUR Kevin		FR	38	44	0.863	0	4	4	3
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
J	SON JUN Hyuk	35	32	1.093	2	4	4		
	IBRAIMOV Amir	28	32	0.875	0	7	4		
	YAVUZ Tarik	35	23	1.521	2	6	5		
	IBRAIMOV Amir	31	23	1.347	0	5	4		
	YAVUZ Tarik	35	21	1.666	2	9	5		
	SON JUN Hyuk	27	21	1.285	0	6	6		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
YAVUZ Tarik		TR	70	44	1.590	4	9	6	1
SON JUN Hyuk		KR	62	53	1.169	2	6	6	2
IBRAIMOV Amir		DE	59	55	1.072	0	7	5	3
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
K	CETIN Volkan	22	28	0.785	0	4	2		
	KIM Do Hyeon	35	28	1.250	2	4	4		
	BAS Serdal	20	26	0.769	0	11	3		
	CETIN Volkan	35	26	1.346	2	8	4		
	BAS Serdal	29	21	1.380	0	7	4		
	KIM Do Hyeon	35	21	1.666	2	6	5		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
KIM Do Hyeon		KR	70	49	1.428	4	6	5	1
CETIN Volkan		NL	57	54	1.055	2	8	4	2
BAS Serdal		TR	49	47	1.042	0	11	7	3
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
L	MARECHAL Gwendal	13	14	0.928	0	5	2		
	DE BACKER Peter	35	14	2.500	2	9	9		
	GOREN Mehmet	23	23	1.000	0	4	3		
	MARECHAL Gwendal	35	23	1.521	2	6	4		
	GOREN Mehmet	22	37	0.594	0	4	3		
	DE BACKER Peter	35	37	0.945	2	3	3		
<b>Players</b>		<b>Nat</b>	<b>T-Car</b>	<b>T-Inn</b>	<b>G.Avg</b>	<b>MP</b>	<b>1st HR</b>	<b>2nd HR</b>	<b>Place</b>
DE BACKER Peter		BE	70	51	1.372	4	9	9	1
MARECHAL Gwendal		FR	48	37	1.297	2	6	5	2
GOREN Mehmet		TR	45	60	0.750	0	4	4	3



Union Mondiale de Billard

## ANTWERP WORLD CUP 2025 (BE)

### 06-12 October 2025

### Pre-Qual Groups

Pre-Qual Groups									
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
M	RAHMET Muammer	35	32	1.093	2	5	4		
	MORTENSEN Lukas	23	32	0.718	0	3	2		
	WILKOWSKI Huub	35	25	1.400	2	5	5		
	MORTENSEN Lukas	21	25	0.840	0	5	3		
	WILKOWSKI Huub	35	25	1.400	2	7	5		
	RAHMET Muammer	24	25	0.960	0	5	3		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
WILKOWSKI Huub		NL	70	50	1.400	4	7	5	1
RAHMET Muammer		TR	59	57	1.035	2	5	5	2
MORTENSEN Lukas		DK	44	57	0.771	0	5	3	3
N	KORKMAZ Fatih	23	32	0.718	0	3	3		
	LONG Nguyen Chi	35	32	1.093	2	5	4		
	PANAIA Maxime	35	28	1.250	2	5	4		
	KORKMAZ Fatih	19	28	0.678	0	3	2		
	PANAIA Maxime	35	23	1.521	2	7	7		
	LONG Nguyen Chi	34	23	1.478	0	6	6		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
PANAIA Maxime		FR	70	51	1.372	4	7	7	1
LONG Nguyen Chi		VN	69	55	1.254	2	6	6	2
KORKMAZ Fatih		TR	42	60	0.700	0	3	3	3
O	SAEIJS Alain	2	15	0.133	0	1	1		
	NGUYEN Van Tai	35	15	2.333	2	8	7		
	STAMM Lukas	35	37	0.945	2	6	4		
	SAEIJS Alain	12	37	0.324	0	4	2		
	STAMM Lukas	32	30	1.066	0	5	3		
	NGUYEN Van Tai	35	30	1.166	2	7	6		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
NGUYEN Van Tai		VN	70	45	1.555	4	8	7	1
STAMM Lukas		DE	67	67	1.000	2	6	5	2
SAEIJS Alain		BE	14	52	0.269	0	4	2	3
P	DE KOK Joey	16	18	0.888	0	5	4		
	LEE Beom Yeol	35	18	1.944	2	5	5		
	KIYOTA Atsushi	30	31	0.967	0	6	3		
	DE KOK Joey	35	31	1.129	2	7	6		
	KIYOTA Atsushi	35	34	1.029	1	5	4		
	LEE Beom Yeol	35	34	1.029	1	7	5		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
LEE Beom Yeol		KR	70	52	1.346	3	7	5	1
DE KOK Joey		NL	51	49	1.040	2	7	6	2
KIYOTA Atsushi		JP	65	65	1.000	1	6	5	3